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1. ���   ���	
���
�   ���������
����
�����cosθ − sinθ = 5

3
sin 2θ

1. 2. 3. 4.4

13

9

13

4

9

13

9

2. ��� ��� �  ��!   ��"�#���
�$%��#   ���	
���
�sin 15 cos 15 x2 + ax + b = 0

 ���������
����
�����a4 − b2

1. 2. 3. 1 4.1 + 2 3 2 − 1 35

16

3. ��� ��� �   ���   ���	
���
�   ���������
����
�����csc x + cot x = A, A ≠ 0 tan x

1. 2. 3. 4.2A

A2 + 1
2A

A2 − 1
A2 − 1
A2 + 1

A2 + 1
A2 − 1

4. 
���
�   ���������
����
�����sin 30

sin 10
− cos 30
cos 10

1.  2. 1 3. 2 4.−1 −2

1



5. Let f(x) be a function such that, for every real number x
f(x) + 2f(−x) = 2 sin x cos x

What is the value of  f(π
4

)

1. 2. 1 3. 4.1

2
−1
2

−1

6. Ten squares of equal size are arranged in the grid below.  What is the value of  β − α?

a. b.30 37.5

c. d.45 60

*7. 
����G�$H��
�IJ��KL��
f(x) = sin x

1− cos2x
+ cos x

1− sin2x
+ tan x

sec2x− 1
+ cot x

csc2x− 1

�%MG
   %�
�����������
����
�����x ∈ R

1. 2. 3. 2 4. 4−4 −2

*8. 
���
�  1

cos 0 cos 1
+ 1

cos 1 cos 2
+ 1

cos 2 cos 3
+ ........... + 1

cos 44 cos 45

%�
�����������
����
�����
1. 2. 3. 4.tan 1 sec 1 csc 1 cot 1

β

α

2



9. � �   ��!   �������   %�
�����������
��sinA + sinB = 1 cosA + cosB = 3

2
tan(A + B)

1. 2. 3. 4.3

4

4

3

5

12

12

5

10.  %�
�����������
����
�����sin240 + sin280 + sin2160

1. 2. 1 3. 4. 21

2

3

2

11. 
���
�   ���������
����
�����(4 cos29 − 3)(3 − 4 sin227 )

1. 2. 3. 4.tan 9 cot 9 tan 27 cot 27

12. %�
�����������
��sec 

1

2
(arcsin 3

5
+ arccos 3

5
)
 + tan 


1

2
(arcsin 4

5
+ arccos 4

5
)


1. 2. 3. 4.2 3 1 + 2 2 + 3

3



13. Q���	�
���
���G�����������
�$%��#   %����� %���G
��arcsin x = 2 arccos x

1. 1 2. 2 3. 3 4. 4

14. ���   ���	   %�
�����������
����
����� arccos x − arcsin x = π
6

arccos x − arctan 2x

1. 2. 3. 4.π
12

5π
12

7π
12

11π
12

15. � �   ��"�Q���	�Q#R�STG�   ���	
���
�   −1 ≤ x ≤ 1 arccos x − arcsin x = π
2552

sin
π
2552

���������
����
�����
1. 2x 2. 3. 4.1 − 2x2 2x2 − 1 −2x

16. ���   ���	
���
�  ���������
����
�����arcsin 5x + arcsin x = π
2

tan(arcsin x)

1. 2. 3. 4.1

5

1

3

1

3

1

2

4



17. ��� ��� �  ABC  ��"�#X�$�%� ��GY%��G%�%H%  A  �������  ��!  60 , BC = 6 AC = 1


���
�  ���������
����
�����cos 2B

1. 2. 3. 4.1

4

1

2

3

2

3

4

18. ��� ��� �  ABC  ��"�#X�$�%� ��GY%��!  D  ��"�QH��TG���������  BC  ���  AB = 4   ��	Y
AC = 3   ��	Y��!    ��	Y  ���	����  BC  Y�	���������
����
�����AD = 5

2

1. 3 2. 4 3. 5 4. 6

19. ��#X�$�%� ��GY%  ABC  ���  (sinA + sinB + sinC)(sinA + sinB − sinC) = 3 sinA sinB

���	   �������������tanC

1. 2. 3. 4.1

3
− 1

3
3 − 3

20. ��� ��� �  ABC  ��"�$�%� ��GY%#X� �TG�%�$%���R	��  6 sinA = 4 sinB = 3 sinC

���	   %�
���#������
����
�����cos 2C

1. 2. 3. 4.3

4
−3
4

−7
8

7

8

5



21. ��� ��� �   ��"����������
\R���G$
�
��
������MG
���  an
n→ ∞
lim 


an − a1
n


 = 5

���   ���	  ���������
����
�����a9 + a5 = 100 a100

1. 500 2. 515
3. 520 4.  ��%�����]#�!��
%X��%��]�Y�]


22. ���  ���	^��	��
�
�H�#%   %�
�������� 
n→ ∞
lim

n2b+ 1
2n2a−1

= 1
n= 1

∞
Σ 


ab

a2 + b2


n

1. 2. 3. 1 4. ��������!1

3

2

3

23. ���   ��"��������#��
\R�STG�    ���	
��%����G$H���G��"������a1, a2, a3 .....
n= 1

∞
Σ an = 4

�
�   �������������a2

1. 4 2. 2
3. 1 4. ��� �X#X�
��
������	

24. The sum
1

1!9!
+ 1

3!7!
+ 1

5!5!
+ 1

7!3!
+ 1

9!1!

can be written in the form  , where a and b are positive integers. 2a

b!

The value of  
n= 1

∞
Σ (a

b
)n is

1. 3 2. 5 3. 7 4. 9

6



25. ^��	��
�
�H�#%   ���������
����
�����
n= 3

∞
Σ 1

n2 − 4

1. 2. 3. 4. �%�#X�a�!1

4

25

12

25

48

26. ���   ���	   %�
�����������
����
�����
n= 2

∞
Σ 1

n4 − n2
= A

n= 2

∞
Σ 1

n2

1. 2. 3. 4.3

4
+A 5

4
+A 3

4
−A 5

4
−A

27. 
���
�    ���������
����
�����
m= 1

6
Σ

n= 1

4
Σ (mnsin mπ

2
)

1. 20 2. 30 3. 40 4. 60

28. ��� ��� �  an = 1

nk
[1 + (2 + 2) + (3 + 3 + 3) + ...... + (n + n + ..... + n)]

b�Y��G  k  ��"�
��
���	��G���� �   l  , l  > 0       
n→ ∞
lim an =

���	  6(l  + k) %�
��������

n ]Q�K

7



29. ���    %�
����"�Q���	�Q#R��	����	
���
�  AA =
n→ ∞
lim




2nk

1+ 8+ 27+ .....+ n3



���������
����
����� 
1. 0 2. 2 3. 4 4. 8

30. ^��	��
�  2  ]Q�K�#���
�H�#%�#��
\R�
����KLH� �TG�%�
���������  1  ��!  �H�f ]Q�K
%�
����"�  2  �����
�^��	��
�]Q�K���� %���G��%%�  ^��	��
�
�H�#%���
M
��
��
1. 2. 3. 4.7

6

8

7

9

8

10

9

31. � �   ��!   $�� #��   ��
$#H����X���
�a1 = 2 an = 2 + an− 1 n ≥ 2

1. ��"��������X�

�an

2.  ��"��������X�������!%��R%R�������� 0an

3.  ��"��������X�������!%��R%R�������� an 2

4.  ��"��������X�������!%��R%R��������  2an

32. � �    ��!   $�� #��  a1 = 1 an+ 1 = 3an + 4
2an + 3 n ≥ 1

(�������   �%MG
  n  �]RG%�T��
Y����%�$R��$H�a1 = 1, a2 = 7

5
, a3 = 41

29
, .....)

���	   %�
����������Q���	�����
�����an

1. 2. 3. 4.2 3
2+ 3

3

4 3

3

8



33. 
���
�   ���������
����
�����
n→ ∞
lim

1

n+1


1

2
+ 3
4

+ 7
8

+ ...... + 2
n − 1
2n




1. 0 2. 1 3. 2 4.  �
���%����

34. ��� ��� �  ��"�������STG�$
�
��
������MG
���  $�� #���H�Q���	����an
1
an

+ 1
an+1

= 1

n  ���  ���	  %�
�����������
����
�����a1 + a2 + ... + a100 = 250 a2552 − 2.5

1. 2. 3. 4.1 + 5 2 + 5
5

2
2 5

35. ��� ��"�QH��TG�����L�	�  (0, 1)   ��"�QH��TG�����L�	�  x1 x2 (0, x1)

��"�QH��TG�����L�	�  ��"�QH��TG�����L�	�  x3 (x2, x1) x4 (x2, x3)

��"�QH��TG�����L�	�  ��"�QH��TG�����L�	�  x5 (x4, x4) x6 (x4, x5)

��"��L������#MG
Y��  
���
�   %�
���#������
��
n→ ∞
lim xn

1. 0 2. 3. 4.1

3

1

4

1

12

36. In the expansion
(3x8 − 2x6 + x5 + 2x4 − x2 + 1)5 = a0 + a1x + a2x2 + ... + a40x40,

the suma0 + a2 + a4 + ... + a38 + a40 =

a. 256 b. 512 c. 528 d. 540 e. 1024

9



37. Suppose that  (1 + x + x3)7 = a0 + a1x + a2x2 + ... + a20x20 + a21x21.

What is the value of  21
i= 3
Σ ai

a. 2150 b. 2154 c. 2158 d. 2162 e. 2166

38. ��� ��#X����  1, 1, 2,1, 2, 3, 1, 2, 3, 4, 1, 2, 3, 4 , 5 ......   ]Q�K��G  5060  %�
��������
1. 1 2. 10 3. 100 4. 1000

39. ��� ��  S1 = {1}, S2 = {2, 3}, S3 = {4, 5, 6}, S4 = {7, 8, 9, 10},

 ^��	��
�$%�LR����� %���   ���������
����
�����S5 = {11, 12, 13, 14, 15} S100

1. 500,000 2. 500,050 3. 500,500 4. 505,000

40. �X��
��X� �TG���Q����G$X�  16  �%�#  ����	�RG�   ����H�
#�����G�X��
��#!��]M��
Q!�#!�
��T���������"�#!Y!   �
�#!Y!�����G%������%��L������#MG
Yf ��  3

4

Q� �#!Y!������� %���G�X��
��
�MG
���G���������	�RG���
��X��
�Q! YH��RG�
1. 102  �%�# 2. 112  �%�# 3. 122  �%�# 4. 132  �%�#

www.thebrain.co.th
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